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1. e 1byte 2byte 4byte 8byte
XA EfOl byte short int long
char
A Bt float double
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1. @ char Bt)2] 2] 3-8 W $17} short EFJETEH &
2. @ BALS char B0 2 744 BR) WBNAR)E 5+ ¢S
3. @ e A= int BRI
4. 5 Qo] Avk= int BRI
5. 94k A3k int BFIQIH] | char BFY W4 ¢2 ofl A7) dii
char c2 = (char) (c1 + 1);

int 2, AARS] A7k= int BFYY
double, (double)x / y T==x / (double)y T+ (double)x / (double)y

(int) (varl + var2)
(int)(varl + (int)var2 + var3 + Double.parseDouble(var4)) E+=

(int)varl + (int)(var2 + var3) + (int)Double.parseDouble(var4) =+
(int)(varl + var2 + (int)var3 + Double.parseDouble(var4)) ==

© ® N o

(int)(varl + var2 + var3 + (int)Double.parseDouble(var4))

1. Byte.parseByte
Integer.parselnt
Float.parseFloat
Double.parseDouble
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package sec@4.verify.examol;

public class Exam@l {
public static void main(String[] args) {

String name = "ZAH}";
int age = 25;
String tel1="010", tel2="123", tel3="4567";
System.out.println("0|2: " + name);
"+ age + "\n");

System.out.print("Htol:
System.out.printf("#3t: %1$s-%2$s-%3%$s", tell, tel2, tel3);

package sec@4.verify.exam02;
import java.util.Scanner;

public class Exam@2 {
public static void main(String[] args) {
Scanner scanner = new Scanner(System.in);

System.out.print("&Ha £:");
String strNuml = scanner.nextLine();

System.out.print("FH® £:");

String strNum2 = scanner.nextLine();
int numl = Integer.parseInt(strNuml);
int num2 = Integer.parseInt(strNum2);

int result = numl + num2;
System.out.println("si4 Zat:" + result);
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package sec@4.verify.exam@3;

import java.util.Scanner;

public class Exam@3 {

public static void main(String[] args) {

Scanner scanner = new Scanner(System.in);

System.out.println("[®E4 HE 4]");

System.
String

System.
String

System.
String

System.

System.
System.
System.
System.

out.print("1. 0|&: ");

name

out
ssn

out.

.pri

=S

pri

scanner.nextLine();

nt("2. FUHS o 6242 ");

canner.nextLine();

nt("3. MshH

")

fo

tel = scanner.nextLine();

out.

out.
out.
out.
out.

pri

pri
pri
pri

pri

ntln();

ntin("[LE WE]");

ntin("1. 0|&: " + name);

ntln("2. et 6Ak2|: " + ssn);
ntln("3. A "+ tel);
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2.31 3. !stop 4./,%
5. varl/var2t A4 dilo|na Anpis A= 2 T4 ¥4 var3ols 2.00] A%
(int)(var3 * var2)= (int) (2.0 * 2)o|2 =& Aul= 4, 1A W4 vard= 471 A%

6. value / 100 * 100 7. float B} 0.1f= A25] 0.10] o}y 7| wji=
8. (lengthTop + lengthBottom) * height / 2.0

package sec@2.verify.exam@9;
import java.util.Scanner;

public class Exam@9 {
public static void main(String[] args) {

Scanner scanner = new Scanner(System.in);

System.out.print("& s £: ");

double numl = Double.parseDouble(scanner.nextLine());

System.out.print("F ®H® £: ");
double num2 = Double.parseDouble(scanner.nextLine());

System.out.println("-------——----——-————- ")
if(num2 != 0.0) {

System.out.println("Zat: " + (numl/num2));
} else {

System.out.printin("Zat: FSHH");

10.

package sec@2.verify.examl0;

public class Examl@ {
public static void main(String[] args) {
int varl = 10;
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int var2 = 3;

int var3 = 14;

double var4 = varl * varl * Double.parseDouble(var2 +
System.out.println("¥9| Ho[|:" + var4);

+ var3);

package sec@2.verify.examll;

import java.util.Scanner;

public class Examll {
public static void main(String[] args) {

Scanner scanner = new Scanner(System.in);

System.out.print("oto|c|:");

String name = scanner.nextLine();

System.out.print("HHAQE:");

String strPassword = scanner.nextLine();

int password = Integer.parseInt(strPassword);

if(name.equals("java")) {
if(password == 12345) {
System.out.println("210 A42");
} else {
System.out.println("2191 Amj:IjAET} E2I");
}
} else {
System.out.println("219! Aoj:oto|c| ZaM3tA| %S");




12. true, false
13. value += 10;
value -= 10;
value *= 10;
value /= 10;
4. 7}

04-1 =21 ZH|

if¥ switch® 2. 0,0,0,x 3. S22 BYL|LCt.

4. o8 SIS SN R?

o4 39l HEe woM £ YLt
Ut 3|9 SEe WO 4 AUsLct

1. fort, whilet, do—whilet#

package sec@2.verify.exam@2;

public class Exam@2 {
public static void main(String[] args) {
int sum = 0;
for (int i = 1; i <= 100; i++) {
if 1%3==0){
sum += 1i;

}

System.out.println("39 Bi£2| §: " + sum);
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package sec@2.verify.exam@3;

public class Exam@3 {
public static void main(String[] args) {
while (true) {
int numl = (int) (Math.random() * 6)
int num2 = (int) (Math.random() * 6)
System.out.printin("(" + numl + ", "
if ((numl + num2) == 5) {
break;

+1;
+ 1;

+ num2 + ")");

package sec@2.verify.exam04;

public class Exam@4 {
public static void main(String[] args) {
for (int x = 1; x <= 10; x++) {
for (inty = 1; y <= 10; y++) {
if ((4*x+5*y)==60) {
System.out.println("(" + x +

" "
>

£y + ;3

package sec@2.verify.exam@5;

public class Exam@5 {
public static void main(String[] args) {
for (int i =1; i <5; i++) {
for (int j = 1; j <= 1; j++) {



System.out.print("*");
if (=1 {
System.out.println();

package sec@2.verify.exam06;

public class Exam@6 {
public static void main(String[] args) {
for (int i = 1; i < 5; i++) {
for (int j =4; j > 0; j—-) {

if (1<3j){
System.out.print(" ");
} else {
System.out.print("*");
}
}
System.out.println();

package sec@2.verify.exam@7;
import java.util.Scanner;
public class Exam@7 {

public static void main(String[] args) {

boolean run = true;

int balance = 0;




Scanner scanner

while (run) {

new Scanner(System.in);

System.out.println(" ")
System.out.println("1.02 | 2.&2 | 3.%1 | 4.E&8");
System.out.println(" ");

System.out.print("AEed> ");

int menuNum

Integer.parselnt(scanner.nextLine());

switch (menuNum) {

case 1:
System.out.print("oZd> ");
balance += Integer.parseInt(scanner.nextLine());
break;
case 2:
System.out.print("&24> ");
balance -= Integer.parselnt(scanner.nextLine());
break;
case 3:
System.out.print("&1> ");
System.out.println(balance);
break;
case 4:
run = false;
break;
}

System.out.println();

System.out.println("Z2313 Zg8");
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false

true
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4.
package sec02.verify.exam@4;
public class Examo4 {
public static void main(String[] args) {
int max = 0;
int[] array = { 1, 5, 3, 8, 2 };
for (int i = 0; i < array.length; i++) {
if (max < array[i]) {
max = array[i];
}
}
System.out.println("max: " + max);
}
}
5.

package sec@2.verify.exam@5;

public class Exam@5 {
public static void main(String[] args) {




m
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int[1[] array = { { 95, 86 }, { 83, 92, 96 }, { 78, 83, 93, 87, 838 } };

int sum = 0;
double avg = 0.0;

int count = 0;
for (int i = 0; i < array.length; i++) {
for (int j = 0; j < array[i].length; j++) {
sum += array[il[j];

count++;

}

avg = (double) sum / count;

System.out.println("sum: " + sum);

System.out.println("avg: " + avg);

package sec@2.verify.exam@6;
import java.util.Scanner;
public class Exam@6 {
public static void main(String[] args) {

boolean run = true;

int studentNum = 0;
int[] scores = null;

Scanner scanner = new Scanner(System.in);

while (run) {

System.out.println("-=—————————mmmmmmmm

System.out.println("1.84% | 2. 2448 | 3.¥42|AE | 4.8M | 5.88");

System.out.println(M-——————————

System.out.print("Mei> ");



int selectNo = Integer.parseInt(scanner.nextLine());

if (selectNo == 1) {
System.out.print("aH4> ");
studentNum = Integer.parselnt(scanner.nextLine());
scores = new int[studentNum];
} else if (selectNo == 2) {
for (int i = 0; i < scores.length; i++) {
System.out.print("scores[" + i + "> ");
scores[i] = Integer.parseInt(scanner.nextLine());
}
} else if (selectNo == 3) {
for (int i = 0; i < scores.length; i++) {

System.out.println("scores[" + i + "]: " + scores[i]);
}

} else if (selectNo == 4) {
int max = 0;

int sum = 0;

double avg = 0;

for (int i = 0; i < scores.length; i++) {

max = (max < scores[i]) ? scores[i] : max;
sum += scores[i];

}

avg = (double) sum / studentNum;

System.out.println("2l2 Z%£: " + max);

0

PS
£: " + avg);

o

System.out.println("Ez
} else if (selectNo == 5) {

run = false;

System.out.println("Z213 Z8");

o
Ao
=
Ja}
T

657

0
i
&




Jo
re
Hén
0
1L

o
T
w
ot
re
r_{iq

1. 0,0,X, 0

package sec@3.verify.exam02;

public enum LoginResult {
SUCCESS,
FAIL_ID,
FAIL_PASSWORD

package sec@3.verify.exam02;

public class Exercisel3 {
public static void main(String[] args) {
LoginResult result = LoginResult.FAIL_PASSWORD;
if(result == LoginResult.SUCCESS) {
} else if(result == LoginResult.FAIL_ID) {

} else if(result == LoginResult.FAIL_PASSWORD) {

}

06—1 =21 ZH|



2.
package sec@2.verify.exam02;

public class Member {
String name;
String id;
String password;

int age;

3.
package sec@2.verify.exam@3;

public class MemberExample {
public static void main(String[] args) {

Member member = new Member();
member.name = "Z|5IQF";

member.age = 23;

06-3 &2l ZH|
1. X,0,0,0

2.

package sec@3.verify.exam02;
public class Member {
String name;

String id;
String password;

int age;
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Member(String name, String id) {
this.name = name;
this.id = id;

package sec@3.verify.exam03;

public class Board {
String title;
String content;
String writer;
String date;
int hitcount;

Board(String title, String content) {
this(title, content, "21°QI5t sl@loto|C|", "SHAf AFEH A", 0);

Board(String title, String content, String writer) {
this(title, content, writer, "dzaf ZEEH Y&R", 0);

Board(String title, String content, String writer, String date) {
this(title, content, writer, date, 0);

Board(String title, String content, String writer, String date, int hitcount) {
this.title = title;
this.content = content;
this.writer = writer;
this.date = date;
this.hitcount = hitcount;




4, Board board

new Board("A=", "LHE");

Board board = new Board("HZ", "LHg", "EZZE");
Board board = new Board("A&", "WH&", "EZ5", "2025-12-31");

Board board = new Board("XHZ", "LHE", "EZ3", "2025-12-31", 0);

06—4 =21 2H|
1. void, return, -, LHEY 2. 0, X, 0,0

3.

package sec@4.verify.exam03;

public class MemberService {
boolean login(String id, String password) {
if(id.equals("hong") && password.equals("12345")) {
return true;
} else {
return false;

void logout(String id) {
System.out.println("210t2 E|AELICE");

package sec@4.verify.exam@3;

public class MemberServiceExample {
public static void main(String[] args) {

MemberService memberService = new MemberService();

boolean result = memberService.login("hong", "12345");

if(result) {
System.out.println("219 E¥}ELCE");
memberService. logout("hong");

} else {

0
i
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System.out.println("id =& password7t SH}2Z|

OFA
[EN=]

Lck.");
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package sec@4.verify.exam@4;

public class Printer {
static void println(int value) {

System.out.println(value);

static void println(boolean value) {

System.out.println(value);

static void println(double value) {
System.out.println(value);

static void println(String value) {

System.out.println(value);

A

MO
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1. 0.%X,0,0

3.
package sec@5.verify.examol;

public class ShopService {
private static ShopService singleton

private ShopService() {}

662 ==

new ShopService();



static ShopService getInstance() {
return singleton;
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1. 0,0,0,X 2.0,0,0,X

3.
package sec@3.verify.exam03;

public class LoginServlet extends HttpServlet {

@override
public void service() {
System.out.println("219 $L|ct.");

package sec@3.verify.exam03;

public class FileDownloadServlet extends HttpServlet {

@override
public void service() {

System.out.println("mo¥ CRZE §hCt.");

gl 26|
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1. 0.X,0,0 2.0,0,X,0

3.
package sec@1.verify.exam03;
public class Dog implements Soundable {

@override
public String sound() {

return "HH";

o
]



package sec@1.verify.exam@3;

public class Cat implements Soundable {
@0override
public String sound() {

return "0f2";

08-2 &0l ZH|
1. 0,x,0,0 2. 0,0,X,0

3.

package sec@2.verify.exam@3;

public interface DataAccessObject {
public void select();
public void insert();
public void update();
public void delete();

package sec@2.verify.exam@3;

public class MySqlDao implements DataAccessObject {
@0verride
public void select() {
System.out.println("MySql DBOIIA ZA4");

@override
public void insert() {
System.out.println("MySql DBl &¥");
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@override
public void update() {
System.out.println("MySql DBE £3");

@0verride
public void delete() {
System.out.println("MySql DBOIIA AHA|");

package sec@2.verify.exam@3;

public class OracleDao implements DataAccessObject {
@0verride
public void select() {
System.out.println("Oracle DBOIA ZA");

@override
public void insert() {
System.out.println("Oracle DBO| &¢");

@verride
public void update() {
System.out.println("Oracle DBS £3%");

@0verride
public void delete() {
System.out.println("Oracle DBOIA AFA|");




package verify.examo4;

public class NestedClassExample {
public static void main(String[] args) {

Car myCar = new Car();
Car.Tire tire = myCar.new Tire();

Car.Engine engine = new Car.Engine();

4. nickName-2 final £4& z17] uj&of 42}l A 4h& HAE 4= §ict.
chatld; & Y=t}

41 3,4 2RI §loflal 4l String nickName =

package sec@1.verify.exam@5;
public class BackgroundChangeListener implements CheckBox.OnSelectListener {

@override
public void onSelect() {

System.out.println("tHZe HASLICL.");

09-2 =il ZH|

package sec@2.verify.exam0l;

public class Anonymous {
Worker field = new Worker() {




@Override
public void start() {
System.out.println("CiAtRlg SHLCE");
}
I

void method1() {

Worker localVar = new Worker() {
@0verride
public void start() {

System.out.println("7H&g $HCH");

}

¥

localvar.start();

void method2(Worker worker) {

worker.start();

m
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package sec@2.verify.exam@l;

public class AnonymousExample {
public static void main(String[] args) {
Anonymous anony = new Anonymous();
[/ AH HE A
anony. field.start();
/18 AH 2EHS A
anony.method1();
[/ A O A
anony.method2(
new Worker() {
@0verride
public void start() {

System.out.println("HAEES &HCL.");



)5

package sec@2.verify.exam02;

public class Anonymous {
Vehicle field = new Vehicle() {
@Override
public void run() {
System.out.println("AFHA7} E&LCH");
}
¥

void method1() {
Vehicle localVar = new Vehicle() {
@0verride
public void run() {
System.out.println("&&8at7t 2ILICE.");
}
¥

localVar.run();

void method2(Vehicle v) {
v.run();

package sec@2.verify.exam02;

public class AnonymousExample {
public static void main(String[] args) {
Anonymous anony = new Anonymous();

//%E MM BE AG

o =




anony.field.run();
[/ A =24 AE
anony.method1();
/14 A O AR
anony .method2(
new Vehicle() {
@0verride
public void run() {

System.out.println("Ezo| Z&L|Ct.");

)5

package sec@2.verify.exam03;

public class CheckBoxExample {
public static void main(String[] args) {

CheckBox checkBox = new CheckBox();

checkBox.setOnSelectListener(new CheckBox.0OnSelectListener() {
@Ooverride
public void onSelect() {

System.out.println("tHZS HZASHLICE.");

}

s

checkBox.select();

10-1 &1 25
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package sec@1.verify.exam03;

public class Student {
private String studentNum;

public Student(String studentNum) {
this.studentNum = studentNum;

public String getStudentNum() {
return studentNum;

@0verride
public boolean equals(Object obj) {
if(obj instanceof Student) {
Student student = (Student) obj;
if(studentNum.equals(student.getStudentNum())) {
return true;

}

return false;




@override
public int hashCode() {
return studentNum.hashCode();

package sec@l.verify.exam@4;

public class Member {
private String id;
private String name;

public Member(String id, String name) {
this.id = id;
this.name = name;

@override
public String toString() {

return id + ": " + name;

package sec@1.verify.exam@6;

public class BytesToStringExample {
public static void main(String[] args) {
byte[] bytes = { 73, 32, 108, 111, 118, 101, 32, 121, 111, 117 };
String str = new String(bytes);
System.out.println( str );




package sec@1.verify.exam@7;

public class FindAndReplaceExample {
public static void main(String[] args) {
String str = "EE D272 ZH} Q10| JHLE
int index = str.indexOf("&fu}");
if(index == -1) {

System.out.println("ztd} 20| EFE|Of UZ|

} else {

System.out.println("atut E2E0| ESt=|0f U&LICE");

str = str.replace("atHt", "Java");
System.out.println("-->" + str);

-

8. ko] W7k —128~12701H ==2 Zk= wlastal 71 o|ejof= WAIE vlash| wiEduct,
9.

package sec@1.verify.exam09;

public class StringConvertExample {
public static void main(String[] args) {
String strDatal = "200";
int intDatal = Integer.parseInt(strDatal);

int intData2 = 150;
String strData2 = String.valueOf(intData2);
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package sec@2.verify.examol;
import java.text.SimpleDateFormat;
import java.util.Date;
public class DatePrintExample {

public static void main(String[] args) {

Date now = new Date();
SimpleDateFormat sdf = new SimpleDateFormat("yyyy™d MMZ dd¥ EQY HHA| mm&");

System.out.println( sdf.format(now) );

package sec@2.verify.exam@2;

import java.util.Calendar;

public class DatePrintExample {
public static void main(String[] args) {

Calendar now = Calendar.getInstance();

now.get(Calendar.YEAR);

int year
int month = now.get(Calendar.MONTH) + 1;
String strMonth = (month<10)? ("@"+month) : (""+month);

"o =l nan
= > =]

int dayOfMonth = now.get(Calendar.DAY_OF_MONTH);
String strDayOfMonth = (dayOfMonth<10)? ("0"+dayOfMonth) : (""+dayOfMonth);
L UE

String[] dayArray = {"&", "&", "§", "#",
int dayOfWeek = now.get(Calendar.DAY_OF_WEEK);

String strDayOfWeek = dayArray[dayOfWeek-1] + "Q¥";

int hour = now.get(Calendar.HOUR_OF_DAY);



String strHour = (hour<10)? ("@"+hour) : (""+hour);

int second = now.get(Calendar.SECOND);

String strSecond = (second<10)? ("0"+second) : (""+second);

System.out.print(year + "& ");
System.out.print(strMonth + "& ");
System.out.print(strDayOfMonth + " ");
System.out.print(strDayOfWeek + " ");
System.out.print(strHour + "Al ");
System.out.print(strSecond + "& ");

121 21 ZH|
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2. new MusicRunnable()
extends Thread

implements Runnable
12-2 &9l ZH|

package sec@2.verify.exam@3;

public class MovieThread extends Thread {
@override
public void run() {
while(true) {
System.out.println("SEAS MMELICE.");
if(this.isInterrupted()) {




o
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break;

4. thread.setDaemon(true); 5. @

13-1 &0l 27
1. 0,0,0,X 2.0,0,X,0 3.0,0,0,Xx 4. @
5. List<Board>, ArraylList<Board> ¥+ ArrayList<o
6. Map<String, Integer>, HashMap<String, Integer> E+=HashMap<>
7.
package sec@1.verify.exam@7;
import java.util.Arraylist;
import java.util.List;
public class BoardDao {
public List<Board> getBoardList() {
List<Board> list = new ArrayList<Board>();
list.add(new Board("#=1", "LH&€1"));
list.add(new Board("#=2", "LH82"));
list.add(new Board("#=23", "LH83"));
return list;
}
}
8.

package sec@1l.verify.exam@8;
public class Student {

public int studentNum;
public String name;

676 =ol=nze



public Student (int studentNum, String name) {
this.studentNum = studentNum;

this.name = name;

@override
public int hashCode() {
return studentNum;

@override

public boolean equals(Object obj) {
if(!(obj instanceof Student)) return false;
Student student = (Student) obj;
if(studentNum != student.studentNum) return false;

return true;

package sec@l.verify.exam@9;

import java.util.HashMap;
import java.util.Map;
import java.util.Set;

public class MapExample {
public static void main(String[] args) {
Map<String,Integer> map = new HashMap<String,Integer>();
map.put(“blue”, 96);
map.put("hong", 86);
map.put("white", 92);

String name = null;
int maxScore = 0;

int totalScore = 0;

Set<Map.Entry<String,Integer>> entrySet = map.entrySet();
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for(Map.Entry<String,Integer> entry : entrySet) {
if(entry.getValue()>maxScore) {

name = entry.getKey();
maxScore = entry.getValue();
}

totalScore += entry.getValue();

int avgScore = totalScore / map.size();
System.out.printin(

vy .
BRHL:

+ avgScore);

: " + maxScore);
System.out.println(" =

2 oto|c|: " + name);
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package sec@2.verify.exam@2;

import java.io.BufferedReader;

import java.io.FileReader;

public class AddLineNumberExample {

public static void main(String[] args) throws Exception {



String filePath = "src/sec@2/verify/exam@2/AddLineNumberExample.java";

FileReader fr = new FileReader(filePath);
BufferedReader br = new BufferedReader(fr);

int rowNumber = 0;
String rowData;
while( (rowData=br.readlLine())!= null ) {

System.out.println(++rowNumber + + rowData);

br.close();






